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ELECTIVE COURSE : COMMERCE 

ECO-13 : BUSINESS ENVIRONMENT 

Time : 2 hours 	 Maximum Marks : 50 
(Weightage 70%) 

Note : Attempt both parts A and B. 

PART - A 
(Compulsory) 

1. Attempt any four of the following questions : 
5+5+5+5 

(a) What is the concept of mixed economy ? Do 
you consider it to be a desirable environment 
from the socio - economic point of view ? 

(b) What were the main objectives of the new 
economic reforms initiated in 1991 ? 

(c) Explain the meaning and goals of economic 
development. 

(d) What are the five principal goals of planning 
in India ? 

(e) What do you understand by restructing of 
PSUs ? 

(f) Explain the advantages and disadvantages 
of joint ventures. 
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PART - B 

Attempt any three questions from this section : 

2. How does industrial development pose a threat 5+5 
to ecosystem ? What measures have been taken 
by the government to resolve these issues ? 

3. What do you mean by monetary policy ? Describe 2+8 
various instruments of monetary policy in India. 

4. Give an overview of the evolution of consumer 10 
movement in India. 

5. State the indicators of industrial sickness. Describe 5+5 
its causes. 

6. Explain the concept of collective bargaining. 5+5 
What are different types of collective bargaining 
agreements ? Discuss the pre - requisites for 
collective bargaining. 

7. What is the importance of foreign capital in 5+5 
economic and industrial development ? Describe 
briefly various types of foreign capital. 

8. What is meant by balance of payments ? Give an 2+8 
overview of the trends in India's balance of 
payments. 
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